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(3) System.out.print(stril.toUpperCase());
(4) System.out.print(str2.index0f('5"'));
(5) System.out.print(Integer.parselInt(str2));
(6) System.out.print(Math.max(5,10));
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class Worker{

protected String name;

protected int age; ~ C

public Worker(String n, int a){

name=n;
age=a;

}
public void setWorker(String n){
~_this.name=n;

public void setWorker(int a){
this.age=a;
}

} H

class Driver\extends Worker{
private int career;

public Driver(String n, int a, int c){

super(n, a);

career=c;

public void setDriver(int c){
career=c; L

public void showDriver(){
System.out.println(" GE#rF) ");
System.out.println("%gl : "+name);
System.out.println("EHn : "+age);
System.out.println(";&%5fZ . "+career);
}
}

class Intermediate2{
public static void main(String[] args){

Driver drv=pew Driver ("8 L AKABR", 20, 1);

drv.showDriver();

} M

}

EEESOBEBEBHEERSTUN,
String stril="Hello";
String str2="75";

(1) System.out.print(strl.charAt(0));
(2) System.out.print(stril.length());

class Point{
private static int max=20;
private int pt;

public Point(int p){
pt=p;

¥

public static void setMax(int m){
Point.max=m;

public void showPoint(){
System.out.print("RBMNTV 1 ");
if(pt>Point.max)
System.out.println(Point.max);
else
System.out.println(pt);
}

}

class Intermediate4{
public static void main(String[] args){
Point a=new Point(15);

a.showPoint(); -+(1)
Point b=new Point(22);
b.showPoint(); --(2)
Point.setMax(10);

Point c=new Point(7);
c.showPoint(); -+(3)
a.showPoint(); - (4)

}
}
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(1) A a=new A(9);

(2) A a=new B(9);
(3) A a=new B("A");
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class B extends A{
public B(int i){
super(i);

System.out.println("B1");

}

public B(String s){
System.out.println("B2");

class A{
public A(){
this(0);
System.out.println("Ae");
}
public A(int i){
System.out.println("A1");
}
}

}
}
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